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QUESTION 1

A customer will be removing old Windows file servers and moving existing data to the default namespace on their new
HCP 500. Which protocol is recommended to accomplish the move? 

A. CIFS 

B. HTTP 

C. REST 

D. NFS 

Correct Answer: A 

 

QUESTION 2

A customer will be using multiple namespaces in their HCP implementation. They want to use a single common protocol
to access all namespaces. Which protocol would you enable to support this? 

A. CIFS 

B. WebDAV 

C. STMP 

D. HTTP(S) 

Correct Answer: D 

 

QUESTION 3

What applies when configuring DNS with a HCP? 

A. Create a delegated HCP subdomain. 

B. Create a new domain. 

C. Create a NetBIOS entry. 

D. Create a new forest. 

Correct Answer: A 

 

QUESTION 4

You are configuring a HCP 500 solution with AMS 2100 storage. You choose to configure the storage devices first in the
list of tasks associated with this process. What is the reason for sequencing the tasks in this way? 



A. The HCP software must first be installed on the AMS 2100 for access. 

B. Formatting the storage containers will take a considerable amount of time. 

C. You must have the data LUNs established before you can install the core OS. 

D. The HCP command LUN must be established on the AMS 2100. 

Correct Answer: B 

 

QUESTION 5

Which two factors should you consider prior to performing an upgrade? (Choose two.) A. the physical location of the
highest numbered search node 

A. the physical location of the highest numbered storage node 

B. the install user password 

C. the service user password 

D. Answer: B,C 

Correct Answer: BC 

 

QUESTION 6

You are assigning LUNs to a HCP 300. 1 TB drives are being used to create the RAID groups. After allocating the
required space for the OS LUN, how much space will be available per data LUN? 

A. 1250 GB 

B. 1666 GB 

C. 2485 GB 

D. 4970 GB 

Correct Answer: C 

 

QUESTION 7

Your customer wants to use IP addresses which conflict with the default HCP network settings. As a result you need to
change the back-end IP addresses for each HCP node. Which HCP network settings should you change? 

A. the back-end gateway router IP address 

B. the back-end subnet mask 

C. the first three octets of the back-end IP addresses 



D. the fourth octet of the back-end IP addresses 

Correct Answer: C 

 

QUESTION 8

A customer has implemented a HCP within their data center. They want to be able to back up the default tenant to VTL
locally. What should be enabled on the HCP to allow this type of backup? 

A. HDPS 

B. NTMP 

C. HCPB 

D. NDMP 

Correct Answer: D 

 

QUESTION 9

Which two statements describe the HCP offline upgrade procedure? (Choose two.) 

A. An upgrade must start with a healthy system. 

B. The customer can read but cannot write data during the upgrade. 

C. Nodes come-up in read/write mode after the reboot. 

D. Nodes automatically reboot during the upgrade. 

Correct Answer: AD 

 

QUESTION 10

You are setting up a HCP and have configured the HCP subdomain for DNS. You now want to verify that the HCP DNS
delegation is working properly. Which command should you use to verify that this is working correctly? 

A. netstat 

B. nslookup 

C. nlsfunc 

D. pathping 

Correct Answer: B 

 

QUESTION 11



Which username/password pair do you use to log into the HCP System Management Console for the first time? 

A. admin/hds 

B. security/Chang3Me! 

C. hcpadmin/hcpadmin 

D. root/hitachll 

Correct Answer: B 

 

QUESTION 12

You are adding two more volumes into each node of a HCP 500 DL. The storage administrator informs you that all SAN
volumes have been created, zoned and presented to the HCP. Which LUN number presented to the HCP will cause a
problem? 

A. 5 

B. 128 

C. 130 

D. 131 

Correct Answer: B 
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